CBSE Class 12 Economics Compartment Question Paper 2017 (July 17, Set 2- 58/1/2)
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Candidates must write the Code on
the title page of the answer-book.

® FHUAT G HL A b SHIH-TA H YGd TS 127 |

® TI-UH H Glig- 81 <hl TR TGU 1T hIg FrI <hl BT It - TRl o JE-T53 T o7 |
® HUTSATE BN oh 38 THA-TH H 30 T 2 |
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TohdT STTET | 10.15 &1 & 10.30 ST doh BT hdel T-9 bl Jeil AN 39 374 oh GIUA o
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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed-at-10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ECONOMICS

fFeTRa @ - 3 g2 3¢ aq 3% - 100
Time allowed : 3 hours Maximum Marks : 100

Wﬁéﬂ:
(i) @l @Sl & Gt g9 AT & |
(ii)  JAP J97 & GTH7 37% 3F VT T3 3 /

(iii) o7 G&IT1 — 5 37 16 — 20 377 TG 3T 97 8, I4% 971 37 BT & | T F571 &
I UE JIFTH T8 /
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(iv) F97 G&IT6 — 8 3R 21 — 23 T FTRIT J97 &, TP F97 3 3% H1 & | T F5H1I & I
I 60 31651 G 3714 7 &1 |

v) T GEITY — 11 37K 24 — 26 T8 1 T IT0T I97 &, T 4% J97 & 4 3% & | G 3947
& I GIHT: 70 I & 3719 7 57 |

(vi) T GET 12— 15 37K 27 — 30 35 3ITRIT J97 &, 9% 37 & 6 3F & | G4 Jo71 &
I G 100 31651 G 377493 T &7 /

(vii) ITIH T & IR Tl T el &4 FNeq 77 TUTEHE [HGITAR JIeg HIHT & Hr
I 1T ST =M18T |/

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii)) Questions number 1 — 5 and 16 — 20 are very short answer questions carrying
1 mark each. They are required to be answered in one sentence.

(iv) Questions number 6 — 8 and 21 — 23 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60 words each.

(v)  Questions number 9 — 11 and 24 — 26 are also short answer questions carrying
4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Questions number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks
each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.

@Qug — 3
Section — A
. 3T HeAd shi TIHTST ST | 1

Define production function.

2. T YU Tt %Y ol HE{oTRad ol |THAT hid1 9SdT @ : (Ta! foehed FHT)
(A) TR $ma
(B) TR 379d ATH (FHITH)
(C) TR digrd 3w (FwmH)
(D) 3I9URH gt 1
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A pertectly competitive firm faces : (Choose the correct alternative)

(A) Constant price
(B) Constant average revenue

(C) Constant marginal revenue
(D) All the above

3. ThT YR o STSTR H Tsh HH ohi hiAd Wiheh hal STl g 7 1

Under which form of market a firm 1s called price taker ?

4. Tondl 9% I G1EAT I Ha AHT AT & ? 1

When 1s a good considered an intferior good ?

5. 3Ed ATH (FRITH) 36 T9H & : (F&! Tdehed gHT)
(A) DA AT i DA IcATGH H YHT HEAT
(B) #hwd
(C) (A) IR (B) T
(D) 3I9UTH H 8 IS A6l 1
Average revenue equals : (Choose the correct alternative)
(A) Total revenue divided by the quantity produced.
(B) Price
(C) Both'(A)and (B)
(D) None of the-above

6.  IcUTed GYTSAT Ik 14 4 €U <1< hl 3T eotdl 9l a1 8 ? THeTeU | 3

Why does a production possibility curve slope downwards from left to right ? Explain.

7. HhNIcHSD ITUIMTE 3T 3Teieh TUTME o S= Id Id13U | Jdh hl Ush-TUdh 3calll
ST | 3

YT
1Y TS 3T Y 3TAITE b SI9 3T FdTSU | Tcdh hl Ueh—TUsh 380l ¢lioTu |
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Distinguish between positive economics and normative economics. Give an example

of each.

OR

Distinguish between micro-economics and macro-economics. Give an example of

each.

8. & Tsh I ohl shiFd 20 aerd TR &, al 3&ehl AT 30 JTdTd §1¢ STdl & | $qeh! shidd

HAT AT kT IHehetd shiTau |

When price of a good falls by 20 percent, 1ts demand rises by 30 percent. Calculate 1ts

price elasticity of demand.

9.  HMHTd WNTd 3R HHTd AN (FETH) Tofer gRT 3cd1e a1 Iqaid & Fd ehitad | 379

3T o ToTd ShIRUT GIIVTT |
hHd | I | HA @RI T ST
R) (TS R) R)
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
3T

qiErdt 1Tl o 431 6 o9 =0Tl shl 8= I | SR G |

qiEd] e | el 3T
(35T3) (35T3)
| 5
2 11
3 15
4 17
5 15
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Identify the equilibrium level of output using “marginal cost and marginal revenue™

approach. Give reasons for your answer.

Price Output | Total Cost | Marginal Cost
) (Units) ) )
10 1 10 10
10 2 19 9
10 3 26 7
10 | 36 10
10 5 48 12
OR
Identity the three phases of the law of variable proportions. Give reasons.
Variable Input | Total Product
(Units) (Units)
| S
2 11
3 15
4 17
3 15

10. Weh 9% bl Yid H g’ b feohral Gl SHIUTI Shl SATEAT hIT |

Explain any two causes of ‘increase in supply’ of a commodity.

1. o g9 ad & b Tehiitehienes Siaaifar § ‘Scare fasie’ idn 2, df S8t SToT T &l

AN TSAT & ? GHSATSU |

What difference does 1t make to the market when we say that there are ‘differentiated
products’ in monopolistic competition ? Explain.

2. &9 T 3T IFREME I3k bl IRHm™T difoe | I8 ot gwenst fos g1 90 8 i = <h

S8/1/2

AT Al FT B & 7
ST

(%) w1 T@T Hiefi @ =1 Bl 8 7 SHEsT |
(W) ITAYHHE Ik 39 FII il & ? JHSATST |
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Define budget line and indifference curve. Also explain why the two are downward

sloping from left to right ?

OR
(a) Why 1s budget line a straight line ? Explain.

(b) Why i1s indifference curve convex ? Explain.

13. UH 3w g fob avq X W a9 G971 U oh T 9T 3ehed] T&dTiad I R Tal
(GST) &TH & & X U el L HTh! A Bl ST | 38 g&q X ohl shidd 3T HT W
TS dTcd THTE <hl Sl FHEART | [T hl IR I | 6

It 1s expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain 1ts likely chain of effects on price and quantity of good X. Use diagram.

hI GIEEI TUEATIRIAT o Tl 97 T&AT 13 & WM W

Ueft 3rren 2 foh g X W adu At i % T T STehell AT “aeq 3T HET R0

(GST) oI & a%] X 9T Hed i Shithl s &l SIRAT | §8oh I&q X hl shidd I TTHAT T
TS el SHTEI shl ATl THSATEY | dTicTeh] T JFAFT hIToT |

For the blind candidates in lieu of Q. No. 13

It 1s expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain 1ts likely chain of effects on price and quantity of good X. Use a schedule.

4. T ThEH 319 WTHE i YW I shael TGN o HGEAT bl HERdl H @l hidl 8 | 39 3d
fopT™ U7 3YR o1 & | 399 Y dR T Uga ! ST e aTell T8 ANTd 3R AdHied
SHTd SAT8T | 3799 3T oh To7¢ ShIUT GIToTT | 6

A farmer undertakes farming on the land owned by him with only family members
working on i1t. The farmer borrows money for this purpose. What are the explicit

costs and implicit cost directly identiable 1n 1t ? Give reason for your answer.
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15. T SUHRHT ol gl a3l X 3T Y 1 STHRT Hidl & | HHTd SRl fowetsor g
3UITHT T ohl ITAl ol SHTEHT ShITwTT | 6

A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using Marginal Utility Analysis.

gig — o

Section — B

16. TSThIYIT UTCT 36eh THME & : (Fal foehed gHT)
(A) STATHeh H1ET — TS A

(B) Tk ©1ET + TS YT

(C) D T9le T — el TS qTHAT
(D) STRE H Y hIE H T2 1

Fiscal deficit equals : (Choose the correct alternative)
(A) Primary deficit minus interest payments
(B) Primary deficit plus interest payments

(C) ‘'Total budget expenditure minus total budget receipts
(D) None of theabove

17. ORI aele B IS Iy 9 =1 3TYI™ 8 7 1

What 1s meant by revenue receipt in a Government Budget ?

18. WA H feq ueh shru foew o fd v ol & 3R &l 8 | WRA o WTaH ddo @Td
T g T hH TSt fohar ST 2 7 (W farehed gfiw)
(A) <L @Id o shige (credit) 981
(B) el @Id o sfee (debit) ua1 |
(C) UShTd @Td o shige (credit) 98T |
(D) UShTd @Td b Sfsie (debit) ue1 g 1
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A company located 1n India receives a loan from a company located abroad. How 1s
this transaction recorded in India’s balance of payments account ? (Choose the

correct alternative)

(A) Credit side of current account
(B) Debit side of current account
(C) Credit side of capital account

(D) Debit side of capital account

19. WX H fogeh gaTeamd i o : (F8! fashed i)
(A) AT &= hl HIT 3 |
(B) WHTITcTeh & hl W 3 |
(C) (A) 3 (B) GHI T W Z |
(D) 39k § ¥ el 1 oft W 71 7 | 1

Foreign embassies 1n India are a part of India’s : (Choose the correct alternative)
(A) Economic territory

(B) Geographical territory

(C) Both (A) and«(B)

(D) None of the above

20. Tifgeh Tehel TRe] IAUTE | IT AU & 7 1

What 1s meant by Nominal Gross Domestic Product ?

21. Weh = oh JHTIRIG HY R JATY A9 o &= I §dTsC | $9H § i 91 TP AT
U1 b THgId 1 ATYR & 7 3

SR

FHEd ITH Y IR 376 S=d T o S AR Id15Y | GHFI o Sie RTHIG 8 7
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Distinguish between ex-ante measure and ex-post measure of a variable. Which of the

two forms the basis of the theory of national income determination ?

OR

Distinguish between average propensity to consume and average propensity to save.

What is the relation between the two ?

22. U] ¢l SATSU foh MHIIRI o A1 TSI 37 HT9d 0T o1 S8R bl ST & :
(i) Ueh AT g R @iled 7 Seb § I 7T K0T 9 ST W |

(i) o T8 Tl I R g 631 ™1 2 |
(ili) IcATEH 313 h ToTT AR g T =Y | 3

G1ving reason state how are the following treated in estimation of national income.
(1) Payment of interest by an individual to a bank on a loan to buy a car.
(1) Expenditure by government on providing free educational services.

(11) Expenditure on purchasing a machine installed 1n a production unit.

23, fc HiHi=d JUHNT S 0.8 &I, df (431 7[UTh <1 Ho TehaT BTN ? iehaid <hITT | 3

[f marginal propensity to consume 1s 0.8, how much will be the value of investment

multiplier 7 Calculate.

24, UM WINC qFelTeh-oh ITHNT 9 Tdee <71 TGAT SIA1 8 | $HehT (h) Fehel Tic] 341G IR
(W) eI T IS a1 FHTTeId THTET shl SITRGT <hi 1T | 4

SR

3T b Toaor § STEHMAIS | Jig € FHTSl b o9l W &1 I9E 98l & ? THeST |

Suppose a ban 1s imposed on consumption of tobacco. Examine 1ts likely effects on

(a) gross domestic product and (b) welfare.
OR

How does increase in inequalities in distribution of immcome affect welfare of the
society ? Explain.
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25. Al Tatereh TRieTa MY 39T 0.1 81 3R 98 F=W T 10,000 &, df FUST Sehl g STH1
G <hl TishaT HHETST | 4

If Legal Reserve Ratio 1s 0.1 and new deposits are X 10,000, explain the process of

deposit creation by the commercial banks.

26. Hg1 qid | gig A H ehe R MY I shl Y{Heh! FHATIT | 4

Explain the role of Cash Reserve Ratio 1in increasing money supply.

27.  ‘ISTAT ISHT b AU LHR TS T o i T84 dTet IRar shl o T 91501, i3
T a9 ¢ &l 8 | TR §91¢ o HTSH ¥ LN i |1 g3 T i T TI L &
2 3 HhY 7 THAIT | 6

RN

gaTEU fohd ThR BRI Soi¢ H ], I 30T ATk TarIdl < HISIH ° GE19E1
37T ohl YHTIeId SRl ST Hehdl & |

The Government,~under Ujjwala Yojana, 1s providing free LPG kitchen gas
connections to the families ‘below the poverty line’. What objective the government

1s trying to fulfil through the government budget and how ? Explain.

OR

Explain how the allocation of resources can be influenced in the government budget

through taxes, expenditure and subsidies.

28. Taceft fafam=r <t |l o = Fidl i 3T 39eh! i o oI Al shl ST HITT | 6

Explain three sources of demand for foreign exchange and three sources of supply of

foreign exchange.
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29. HHY A AR Ty Yfd Tafy g TP 31 Fqed T 1 MR 99y | Wies @
STANT ST | T8 i T3Sy Ioh AT T A T YA A HA B AN SHBT TN IAE T | 6

Explain determination of equilibrium level of national income using aggregate
demand and aggregate supply approach. Use diagram. Also explain the effect when
aggregate demand 1s less than aggregate supply.

hadl GIERM TSI o ToTT J97 T&AT 29 o WH W

For blind candidates in lieu of Q. No. 29.

9 |1 AR TR Yfd | =1 AIR— g ? Al 9T HAT IR FHT Gfd k1 FIgR 1T 724

g1, a1 Teh JTAITET 1 Gdet sl BT ? Al THY HIT THI Yid | T I dl RT Al g ?
NEEIE 6

What 1s meant by aggregate demand and aggregate supply ? Given aggregate demand
and aggregate supply behaviour, when 1s an economy 1n equilibrium ? What happens

when aggregate demand 1s less than aggregate supply ? Explain.

30. () ST 31 3R (@) shIeh 1FTd W HaeT GRil (SRc]) IcUTG hl Tieher <hI 1T - 6
R HTS)
(i) L[] FTTEeh T bl FX9f 3T €189 | U9 3 35
(i1) Hfheh TSI 3™ 500
(111) T R0 W SN 20
(iv) R -Taurfia 3aH 6l s=d 25
(V) BT T T 100
(Vi) Y Targa € ITH Haet =me] &Ta (=) 10
(vii)  foceTi =l THerel ek 3T 10
(Vili)  THTH T T 60
(1X) TR H YT =Te] g&ATalul 30
(X) st i &= <ht aiaenia 3 40
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S8/1/2

Calculate (a) Private Income and (b) Net Domestic Product at Factor Cost :

(1)

(11)
(iii)
(1v)
(V)
(V1)
(vii)
(viii)
(1x)
(X)

(X crore)

Property and entrepreneurial income accruing to Government 35
Administrative Departments.

Personal disposable income 500
National debt interest 20
Savings of non-departmental enterprises 25
Direct taxes on persons 100
Net current transfers from rest of the world (—) 10
Net factor income to abroad 10
Corporate profit tax 60
Current transfers from government 30
Retained earnings of private corporate sector 40

12

collegedunia:

India’s largest Student Review Platform






